622.673.1

... , , -

The technique of definition the is intense-deformed condition of multilayered winding rubber rope $\ f$ mine hoisting equipment



r



58 < < 65.



. 1.

$$T_{i,j} = B \quad \cdot \qquad \cdot h \cdot t \cdot m \cdot \frac{u_{i,j} + U_i}{r_i}, \tag{1}$$

,

$$q_{1,j} = -\frac{u_{1,j} \cdot B_{i,j} \cdot E}{0.5 \cdot h}, \qquad (2)$$

$$i,j = n \cdot f_{i,j} >$$

 $j,j = n \cdot f_{i,j} >$

 $f_{ij} >$

 $f_{ij} >$

 $[3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3, 4];$

 $(3$

$$q_{i,j} = B_{i,j} \cdot E \quad \cdot \frac{u_{i-1,j} - u_{i,j}}{h},$$
 (3)

:

-

$$\frac{T_{j,j}}{m \cdot t} = q_{j,j} \cdot r_{j-0,5}, \qquad i = j$$
(4)

$$\frac{T_{i,j}}{m \cdot t} = q_{i,j} \cdot r_{i-0,5} - q_{i+1,j} \cdot r_{i+0,5} \qquad i = 1, \dots, j-1. \\
\vdots \\
\cdots_i = \frac{r_i}{R_o} - & i - , R_o - ; \\
D = \frac{2 \cdot R_o}{d} - & ; \\
u = \frac{h}{R_o} - & ; \\
t_{i,j} = \frac{T_{i,j}}{m \cdot T_o} - & ; \\
r_{i,j} = \frac{q_{i,j} \cdot t \cdot R_o}{T_o} - & i - & j - ; \\
r_{i,j} = \frac{u_{i,j} \cdot B_n \cdot E - \cdot R_o \cdot t}{T_o \cdot h} - & /- ; \\
= 2 \cdot 2 - & ; \\
(1-4) = ;$$

$$t_{j,j} = t_j,$$

$$t_{i,j} = \frac{\hat{i}_{i,j} + \hat{i}_j}{\dots \hat{i}_i}$$

$$i^{\prime}$$
, i_{-} , i_{-} ;

.

٠

(7)

(5)

-

-

-

-

$$\hat{f}_{2,2} = \hat{f}_{1,2} - \frac{\#2,2}{f_{2,2}}, \qquad \hat{f}_{1,2} = -\frac{\#2,2 \cdot \dots +0,5 + \dots + \frac{1}{2} \cdot \frac{1}{2}}{2 \cdot \langle \cdot f_{1,2} \cdot \dots +0,5 + \frac{1}{2} \cdot \frac{1}{2}}.$$

$$_{2} = \frac{\ddagger_{2,2} \cdot \dots _{2}}{\checkmark} - \hat{}_{2,2}.$$

:

:

$$\begin{aligned} \ddagger_{3,3} &= \texttt{t}_{3} \ , \ \ddagger_{1,3} = \checkmark \cdot \frac{\hat{1}_{1,3} + \Pi_{1}}{\dots_{1}} \ , \ \ddagger_{2,3} = \checkmark \cdot \frac{\hat{2}_{2,3} + \Pi_{2}}{\dots_{2}} \ . \\ &\vdots \\ &\ddagger_{1,3} = \#_{1,3} \cdot \dots_{1-0,5} - \#_{2,3} \cdot \dots_{1+0,5} \ , \end{aligned}$$

$$t_{2,3} = u_{2,3} \cdot \dots \cdot u_{2-0,5} - u_{3,3} \cdot \dots \cdot u_{2+0,5},$$

$$t_3$$

$$_{"3,3} = \frac{1}{3.3}$$

$$\begin{cases} -51,3 - 1,3 - 1,3 - 1,3 - 1,3 - 1,3 - 1,3 - 2,3 - 1,3 - 2,3 - 1,3 - 2,3 - 1,3 -$$

 $\boldsymbol{\ddagger}_{1,1} = \boldsymbol{t}_1.$

$$\ddagger_{2,2} = \ddagger_2, \qquad \ddagger_{1,2} = \langle \hat{1,1} + 1 \\ \frac{1}{\cdots 1} \rangle.$$

$$t_{1,2} = \frac{1}{2} \cdot \frac{1}$$

$$f_{1,2} = -2 \cdot f_{1,2} \cdot \hat{f}_{1,2}.$$

$$\begin{bmatrix} \\ \end{bmatrix} \cdot \begin{pmatrix} \uparrow \\ \end{pmatrix} = \begin{pmatrix} \\ \end{pmatrix}. \tag{8}$$

$$\begin{array}{c} - & ; & - & ; \\ = \left| 2 \cdot f_{1,3} \cdot \dots_{1-0,5} + f_{2,3} \cdot \dots_{1+0,5} + \frac{\varsigma}{\dots_1} - f_{2,3} \cdot \dots_{1+0,5} \right|; \\ - f_{2,3} \cdot \dots_{1+0,5} & f_{2,3} \cdot \dots_{1+0,5} + \frac{\varsigma}{\dots_2} \right|; \\ = \left| \begin{array}{c} - & & & \\ & - & & \\ & & & \\ & & & \\ & - & & & \\ & &$$

 $\hat{f}_{3,3} = \hat{f}_{2,3} - \frac{\#3,3}{f_{3,3}}$.

 $\Pi_3 = \frac{\ddagger_{3,3} \cdot \dots \cdot 3}{4} - \hat{}_{3,3}.$

 $t_{4,4} = t_4, t_{1,4} = \langle \hat{t}_{4,4} + \Pi_1, \dots, \hat{t}_{1,4} \rangle$

 $\ddagger_{2,4} = \langle \cdot \hat{\underline{2,4} + \Pi_2}_{2,4}, \ddagger_{3,4} = \langle \cdot \hat{\underline{3,4} + \Pi_3}_{2,4} \rangle$

:

:

(8)

:

$$\begin{cases} -2 \cdot f_{1,4} \cdot \hat{}_{1,4} \cdot \dots \hat{}_{1-0,5} - f_{2,4} \cdot (\hat{}_{1,4} - \hat{}_{2,4}) \cdot \dots \hat{}_{1+0,5} = \frac{\langle \cdot (\hat{}_{1,4} + \dots \hat{}_{1-1}) \rangle}{\dots \hat{}_{1+0,5}}; \\ f_{2,4} \cdot (\hat{}_{1,4} - \hat{}_{2,4}) \cdot \dots \hat{}_{2-0,5} - f_{3,4} \cdot (\hat{}_{2,4} - \hat{}_{3,4}) \cdot \dots \hat{}_{2+0,5} = \frac{\langle \cdot (\hat{}_{2,4} + \dots \hat{}_{2-1}) \rangle}{\dots \hat{}_{2}}; \\ f_{3,4} = (\hat{}_{2,4} - \hat{}_{3,4}) \cdot \dots \hat{}_{3-0,5} - \frac{\langle \cdot (\hat{}_{3,4} + \dots \hat{}_{3-0,5}) \rangle}{\dots \hat{}_{3-1}} = \frac{\langle \cdot (\hat{}_{3,4} + \dots \hat{}_{3-1}) \rangle}{\dots \hat{}_{3-1}}.$$

, –

(8),

$$= \begin{vmatrix} 2 \cdot f_{1,4} \cdot \dots_{1-0,5} + f_{2,4} \cdot \dots_{1+0,5} + \frac{\epsilon}{\dots_{1}} & -f_{2,4} \cdot \dots_{1+0,5} & 0 \\ -f_{2,4} \cdot \dots_{1+0,5} & f_{2,4} \cdot \dots_{2-0,5} + f_{3,4} \cdot \dots_{2+0,5} + \frac{\epsilon}{\dots_{1}} & -f_{3,4} \cdot \dots_{2+0,5} \\ 0 & -f_{3,4} \cdot \dots_{2+0,5} & f_{3,4} \cdot \dots_{3-0,5} + \frac{\epsilon}{\dots_{3}} \end{vmatrix};$$

$$= \begin{vmatrix} -\prod_{1} \cdot \frac{\epsilon}{\dots_{1}} \\ -\prod_{2} \cdot \frac{\epsilon}{\dots_{2}} \\ -\prod_{3} \cdot \frac{\epsilon}{\dots_{3}} - \frac{\epsilon}{\dots_{4,4}} \cdot \dots_{4-0,5} \end{vmatrix}.$$

$$\hat{f}_{4,4} = \hat{f}_{3,4} - \frac{\#4,4}{f_{4,4}}.$$

.

$$\Pi_{4} = \frac{\ddagger_{4,4} \cdot \dots_{4}}{\checkmark} - \hat{}_{4,4}.$$

 $\ddagger_{1,4} = \prod_{1,4} \cdot \dots = \prod_{1,6} - \prod_{2,4} \cdot \dots = \prod_{1+0,5}, \ \ddagger_{2,4} = \prod_{2,4} \cdot \dots = \prod_{2-0,5} - \prod_{3,4} \cdot \dots = \prod_{2+0,5},$

 $\ddagger_{3,4} = ___{3,4} \cdot ___{3-0,5} - ___{4,4} \cdot ___{3+0,5},$

$$_{"4,4} = \frac{t_4}{\cdots_{4-0,5}} \,.$$

149

$$\begin{array}{ccc}
, & , \\
, & , \\
\ddagger_{j} = t, & , \\
 & _{j} = \underbrace{t_{j}}_{}.
\end{array}$$
(9)

,

$$f_{1,1} = 2 \cdot f_{1,j} \cdot \dots_{1-0,5} + f_{2,j} \cdot \dots_{1+0,5} + \frac{\langle}{\dots_1};$$
 (10)

 $i=2\ldots j-2$

,

$$f_{i,i} = f_{i,j} \cdot \dots f_{i-0,5} + f_{i+1,j} \cdot \dots f_{i+0,5} + \frac{\langle}{\cdots f_{i+1}};$$

$$_{j-1, j-1} = f_{j-1, j} \cdot \dots _{j-1-0, 5} + \frac{<}{\dots _{j-1}};$$

 $i=1\ldots j-2$

 $_{i,i+1}=-f_{i+1,j}\cdot ..._{i+0,5};$

:

(11)

$$_{i+1,i} = -f_{i+1,j} \cdot \dots _{i+0,5}.$$

$$_{i} = - _{i} \cdot \frac{\langle}{\cdots_{i}}; \qquad B_{j-1} = - _{j-1} \cdot \frac{\langle}{\cdots_{j-1}} - _{"j,j} \cdot \cdots_{j-0,5.}$$
(13)

,

$$\hat{j}$$
 :

$$\hat{j} = \hat{j}_{-1} - \frac{"j}{f_{j,j}}.$$
 (14)

$$_{j} = \frac{\ddagger_{j,j} \cdot \dots \cdot j}{\varsigma} - \hat{j}_{,j}. \tag{15}$$

i = 1...j - 1

i = 2...j - 1



1. , (9) - (17) , 2 - 3 %.

151

,

04.04.06 .

-5-

•

547.495.2

- •• , , , , , , , ,
- ··· , · · , « », · ,
- · · · , « », .
- •••,•••,
- •
- · · · , · ,
- ··· , · , « »
- ··· , ...
- ... , « », . ,
- •• , . . , , .
- •• , . . , , .

N-

N- 3-

3- Alkoxy-5-phenylgidantoens condensation N-alkoxyurea with phenylglyoxal without alkaline reagent are obtained.

